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Kart. Ne 618 40/42/46/48
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Kart. Ne A B Cc D
618 40 242 36 36 -
618 42 227 36 - 72
618 46 227 36 36 -
618 48 227 36 - 72

Kat. Ne 6640 70/71/72
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Kart. Ne A B Bup akkymynaTopa
6640 70 186.5 33.5 1 Stick 3 VTD
6640 71 248 335 1 Stick 4 VTD
6640 72 307 335 1 Stick 5 VTD

KaT. Ne 6640 73/74
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Kar. Ne A B (o3 Bup akkymynaTtopa
6640 73 248 33.5 - 1 Stick 4 VTD
6640 74 186.5 = 67 2 x Sticks 3 VTD

Kat. Ne 6640 75/76/77
Moaynb
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Kar. Ne A B Cc Bua akkymynartopa
6640 75 174.5 235 = 1 Stick 4 VTCs
6640 76 216.5 235 - 1 Stick 5 VTCs
6640 77 132.5 = 46.5 1 Stick 3 VTCs
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Kart. Ne 6640 78/79
Mogaynb

1 Stick 4 VTCs
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Kar. Ne A B Bua akkymynartopa
664078 | 1745 46.5 2 Sticks 4 VTCs
216.5 1 Stick 5 VTS
664079 254 465 1 Stick 6 VTS
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